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import math

def Common circle( p, q, rl, u, v, r2 ):

d = math.sgrt((u - p)**2 + (v — q) **2) # 5= =AM AL0|9] AH2| AHA

if d > rl + r2: return 0.0 # & 20| A3 Hojrl 42

elif d <= abs(rl - r2): # oF HO| CtE Yo &tH3| 2= 072t B2
return math.pi * min(rl, r2)**2

else: 5 YO| &xl= E%
anglel = math.acos ((d**2 + rl**2 — r2**2) / (2 *d * rl))
angle2 = math.acos ((d**2 + r2**2 — r1**2) / (2 * d * r2))

areal = r1**2 * anglel

area? r2**2 * angle?2

areal 0.5 * math.sgrt((-d + rl + r2) * (d + rl - r2)\
* (d-rl +r2) * (d+ rl + r2))

return areal + area?2 - areal

# Of|A|
p, 9, r1 =0, 0, 5 # & &y o S4u LIRS
u, v, r2 =3, 0, 4 # 5 B3 o] 42t BIRE

area = Common circle(p, gq, rl, u, v, r2)
cuta = int( area*1000 ) /1000 # A=H 3Zt2| O|st AH=E7|
print (£"& o] wat g9 HA: {cuta:.3f}")




